FR 25-R
RREITUCRE L RS

i
o JUHE G R PR B R
%g v !ﬂk o PRHETT L IR LA B
Y
A @ . BRI 5
| eﬁ* ECOLAB - RO IT 2
3 o R
B IRES R
R LA Y [ 0.1...7m' LED¥R/RIT, 4Rfa Bl iR TN
TAEVE 0.1...6m' LEDfR/RAT, e PIES ST
JeIRTY LED 4%, 632nm RS S il R N A i 2%
FEBE RN VL= B3k it PR 1 B AL
XA P ;i 1kt
% B ThhE 08 Skt 2 A N A2 1 2
HE RV
T St N2 T B
T R N R R IR
H 330/ NPN / PN
NN A F K L AR [ R
BSSH M SE
TAEHE, +U, 10...30 VDC? SN 34 x 20 x 12 mm’
THAR, 1 <30mA Wi 3745 2 IP 69K & IP 67*
fr IR, Te <100 mA SRR ABS
AP HL % L R BR U, /R RS (Q) ATTRIAR A4 ) PMMA
B 55 4% 2 HEdE T (Vf LIE T 51 3)
JA N IEIR <300 ms AR 20 ... +60 °C’
FreEmE, Q PNP/NPN/H (7 WL AL 51 3%) BRI 220 ... 480 °C
it Th g N.O. CEFF) /N.C. CE D Hi (f&HEN) 10g
FEIRATR £ (titp 1:1) <1000 Hz i (&R 10g
] 87 Hf [ 500 us Hig (LD 40 g
fNTERIZ, IN +U, = i G S D) 20g
-U, = PR 078 B PRt EN 60947-5-2
= IEHIE1T

PSEMEL: RI0 ROEM 2EUFEHI A SR VF10% 10953~ S0 Hz / 100 Hz - * A& A T4-5HE D268 ¢ M2 # B4 5 24 A NIP 67 / TP 69K f945 11

SUL:-20 ... +50°C ¢ J:Ecolab

TEeE FRE5HH TR RS U RwS
0.1...6m PNP Beld, M8 x1, 4-%F FR 25-R-PS-M4 606-11000
0.1...6m NPN PO, M8 x1, 4% FR 25-R-NS-M4 606-11002
0.1...6m PNP ZJEEED, M8x1, 3-4F FR 25-R-PS-M3M 606-11006
0.1...6m NPN SR, M8x1, 3-%F FR 25-R-NS-M3M 606-11007
0.1...6m PNP BN, M8x1, 4-4F FR 25-R-PS-M4M 606-11008
0.1...6m NPN SJEEEO, M8x 1, 4-%F FR 25-R-NS-M4M 606-11009
0.1...6m PNP LM, 2m, 4-%% FR 25-R-PS-K4 606-11001
0.1...6m NPN &4, 2m, 4-# FR 25-R-NS-K4 606-11003
282 www.sensopart.com




(I SENSOPART

T{EeE FrREHIH JLE =it FamRE TSRS
0.1...6m PNP ERRLL: 150 mm (BLEMS, 4-%F D FR25-R-PS-KM4 606-11028
0.1...6m NPN LML 150 mm CEEMS, 4-5F 0D FR25-R-NS-KM4 606-11029
0.1...6m PNP LWL 150 mm (BEMI2, 4-5HR08:1D) FR25-R-PS-KL4 606-11004
0.1...6m NPN LRSS 150 mm CEEMI2, 4-4H980) FR25-R-NS-KL4 606-11005
0.1...6m H 3 SJEED, M8x 1, 4-4 FR25-R-PNS-M4M 606-11011
EOERERIE CUONERTIRYT
20 . 20
12 Teach-in 26 12 Teach-in o6
LED 2~ J |-LED1 LED 2+ _/ |~LED 1
L N L — ~N = |
\J/
Receiver Receiver
[ Emiter & [ Emiter |
2 | 2
s 21 ‘*”I | -
M8x1 ?3.5
153-00835 9&5 153-00834
EAE 45t EAE 35t BB Bontenl
—+U; 1 BN NPN 1tUs 1 BN _NPN —+Uy 1 BN Auto-Detect
+ e + f— o-1|
IN 2 WH IN 2 WH i
- o Q 4BK PNP ~ i
Q 4BK PNP Q 4BK i
— | e ) e
1
|Us 38U "Us 3BU Uy 38U v
154-00312 o 154-00311 154-00313
Iheets L E FEBER T E
100 600
R /
@®Rs | 500
c /“\ @|rog 400 Ihorizontal = vertical | //
= / \@ ®|R10] T Z
» 10 \ o 300 7
8 \ ) 8
i @ \ ® 200 pd
\ \ pd é
\ 100 ,
1 ~_ . pd
01 1 2 3 4 5 6 7 (] 1 2 3 4 5 6 7
Distance [m] 155-00978 Distance [m] 155-00981
=R T/EeE B34
R10 0.1...6m IR A-18
RDS 0.05...4m 2R A-34
R5 0.1...4m Y A-4

www.sensopart.com

283



